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Y =1100 , r=7%

Y=1100
r=7%

T =50 +0.25 (1100) = 325
H= 75
G= 230

Y, =1100-325 + 75 = 850
C =50 +0.8 (850 ) -1000(7%)
=50 + 680 — 70 = 660

S, = 850 — 660 = 190

S, = 325—230— 75 = 20
Sy = 190 + 20 = 210

I =280 - 1000 (7%) = 210

Mg = 150+0.2(1100) - 1000 (7%)

= 150 +220 - 70 =300

pauaad) el ggiall 138 die

Gl gl 2 S

M, = 50 + 0.2 (1100) — 1000 (7%) = 270

M, = 100 — 1000 (7%) = 30
Mg = 270430 = 300
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Y 1000 1100 Ya =850
T 300 325
H 75 75
Y, 775 850
C 620 660 Y4 =C+ S,
S, 155 190
[+G=S,+T—H
210+230 = 190+325-75
G 230 230 440 = 440
Il Lyl ga
Sy =S, +S,
I 150 2100 _ 190420 = 210
S, 155 190
Sg 5 20
S 150 190
I 150 20
r 5% 7%
My 300 300
M, 300 300
I = ST
p 1 1 210= 210
M, 250 270
M, 50 30
[-S,=T-G—H
210-190 = 325-230-75
20 = 20
ekl gl cpls Al b il
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Al AC
A(l+ C) ZF(AF)-I_ ?(Ar)

=-1000(0.02) -1000(0.02)
=-20 - 20
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r=-0.278 — 0.00022 Y
Do Y
r=0.25-0.0002Y
ol Aamll Sy oo WS LM Aalee Jlig

Y =1019 , r=55%
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